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for the questions

1. Answer any ten from the following as
directed : 1x10=10

ot T R el wRbR e Ted fia

(@) Mention one assumption of Harrod-
Domar growth model.
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() Name one neo-classical growth model.
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(2) (3)
() What is meant by technological 0) What is meant by fiscal policy?
progress? TSR S et 7 &R 2
agfers TafS WA & o 7 e
W (k) What 18 Rlcardia_n equivalence?
(d) Define average propensity to consume: WW &9
S[G ¢l 2ReTOR Hew find | ,
0 Wlll_at Is meant by active monetary
(e Who  introduced the life-cycle PO
hypothesis? e qa1 Reey & om0
(m) Who are the classicists?

FRA-5& S0 (FIC BeR e 2
U) Mention one assumption of pennanent Wg?ﬂ%ﬁ??@_c‘[ @ @2

income hypothesis.
n . - .
(") Did Keynes believe in full employment

. o1 SfSYH
IR S ST ol SCEY ¥4 | PR i
(g) Rational expectation model is related to S =00 o4 firel oo
Robert Hall/Friedman. ' PRSP e o
o
( Choose the correct answer ) ) Name one new Keynesian economist.
Ffesicors Aol SECET b 271/ Freta oo T T @A AR 1w ey
OO |
(% TSI AR e ) ax e
" ERSveL, any L five :
(h) What is investment? Questiong. - fi rom the following
2x5=10
e 2 O 2RCIRT R e o5 T oy -
() What is liquidity preference? @ What 15 the g Mt S
oRe A 2 e 4w & 2
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(b)

(c)

(d)

(e)

(4)

What is meant by endogenous growth?

wsime {4 3o R qom o

Mention two differences between
Harrod-Domar model and Solow model.

QIR W WF v’ Wy e L@l
AT T 9 |

Why marginal Propensity to consume
cannot be greater than one?

il T R o @R 2q
GG 7

What is random walk of cq
expenditure?

COIT IR AT 1 fR 9

nsumption

() Mention two monetary policy targets.
EEEI Rl o R —

(9) Ment.ion two  differenceg between
classical and Keynesian thoughts.
RS S @2y o

AR i
T 1 | bl

(h)  Mention twyq features of classical
macroeconomie thought.
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(5)

the following
3. Answer any four from
5x4=20
questions :

Oo 2T ) e BifReR el i

(a) What are the two effects of investment
)
according to Harrod-Domar model:

Explain.
s-wAR i S R T 2o
&2 qrm a1

(b) Explain Keynes’ psychological law of
consumption.

@9 (1o TG ol T

(c) Explain the clements of endogenous

growth.
e R SRR T 9 |

d) What are the limitations of Harrod-
£ Domar model? Explain.

e SR B 2

caise
9|
(e) Explain the concept of inventory
e Xp
investment i
SR RGIRSIRE AL
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4. Answer any four from the
questions :

o SRR R P! SR S fy -

(@)

(b)

(6)

Explain the time consistency problem of
monetary policy.

1 T TSR S5 77 o4

Distinguish  between external and
internal government debt.

ARE AF ST TR

o]
gL TS <125y

Explain the main features of new
classical macroeconomic thought

T REE SRR SRyER bﬁﬁmqqg
[ | &
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Critically discuss the Solow mode] of
economic growth. :

ERiaicE ﬂ%a'va’vm%ﬁiymnﬁwm'm@mﬁ
ST 1 |

Discuss Fisher’s theory of optimal inter
temporal choice. p

oI 0 SRR s IS et
<41 |
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10x4=40

(c)

(d)

()

(9)

(7))

) tion
Diseiss the Keynesian consump

function.

rcaTb"%'T |
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ife-cycle

Critically discuss the life-cy
hypothESiS- F1d G{]’Cﬂﬂ
Elee-5aF S
901

come hypothesis &7

Is permaﬂent i life,cycle hypotheSiS?

improvement OVer

Discuss. THO
T o ‘ﬂiﬂ';‘cf

Gifs 9 el 9

pusiness
iants of
determint

Discuss the
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(8)

(i)  Discuss the main features of Keynesian
thought.

2O SRUNTA o (IR Seamse <54 |

() Discuss the key elements of the new
Keynesian fixed price model of macro-
economic equilibrium.
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